00000 A1DD0O0001 (20170530) 2

. 0OOoOoon I

m J000000 O0OO00O000O0O0O0O00000000000 nOO
O000oo00oo0o0ooO0U0ooOO0oU0oDO0DOO0OU0OD ADDOooooo
0000 'AD0000D JOOOOOO0DO00000 L,0ooo Yo

e 0000 POOODODDODDOOD'PP=PP=70000000
oooao

e D0UD ADUDDDODODOODOOOD'A=A00000000
gog

e IO ODOODOOODLOODOOOOUOOLOOLOOOLODLDODODLOODOO
goooooooo

e OO UODOODOOOOOOOOOUOLOLOLOLODLODLOOOO
A0OO0OOOOOOO PO

P7'AP ='PAP = diag(\1,...,\n)

00U00000o0oUo0oooO diag(...) 0 “..”>0000ooooo
000o0oooooooo {A,...,\}0A000O00O0OCOOOO
gooooboooogoo

o0ovoobDo ROODODOOO nOOODOODOOOO

m JO0O0000 2000

00 1.1. 0000 VOOODOOD 200000 ¢:VxV sROOO
oobooooogoo

e 000 zeVOOOODOg(z,-):V—-RODO g(x): VRO
000000000

")20170 040 110 (20170 50 2000)
VooooOda square matrix0 0 O O transpositiond 0 0 0 0 O the identity matrix.
2)000000a bilinear form; 2 0000 a quadratic form.

e 000 x,yeVOUOU ¢q(x,y)=¢q(y,z) D0OD0OOOOODOO

00000 ¢qO00000 200000 §:V3xw—g@,a) e ROOOO
ooo

00 1.2. 0000 VOO 20000000 ¢r00000200000
000 ¢ 7000000§=700 gq=r0000

0000 z,yeVOooOono

j(x+y)=qxz+y xz+y) =q=x)+qzy) +qy,x) +q(y,y)
= §(x) + 2q(z, y) + d(y)
ooo .
g(@,y) = 5 (= +y) - dx) - d(y))
000000000 ¢0 00000000 O

oobooboooobo 20000000000 0000000O0O00D 2
gbooboobobobon

0 1.3. 00000000 nO00000 A=(a;) 000000 2, geR”
DI:II:IDt:i:A'gD 1000000000000 0b00b0b0ob0obogon

(1.1) qa:R" X R" > (&,9) — ‘@A € R

00000000 2000000 4000000000000000000
000000000000000 ¢x0 R*O0000O0000O000000O
000000000 J0000 o 0 R*000000000000

00 R*O000000 ¢q00000000 q=qu 00000000 AQ
ooooQ &



3 (20170530) OO000 AlO00O00 I

m J000000O000 0OOO0OO VOO0 [vy,...,v,)] 0000000
oobooooo

T
(1.2) Vozr—az=| : | €eR"
Tn
z
=211+ + TpU, = [V1,..., U,
Ty
DDDDD&:ER”D:BGVDDD[vj]DDDDDDDDDD
00 1.4. 0000 VODOODOODOO qOO0O0O

o) (= qm,m) — 549

000000 nO0000 ADOOOOOOOOOOOO 2, g€R*00
000 @, y000 [vy,...,v,] 0000000000

00000 A= (ai;) 0 aiy:=q(vi,v;) 0000000000 1-200 O

0014000 ADOOODODOOO ¢OO0O0O [w;)000000OOOOOO

00 1.5. 0000 VO20000 [v,...,v,] 0 [wy,...,w,] 0000
000000 U= (uj) € GL(n,R)) 0000

n
[wi,...,w,] =[v1,...,v,]JU 0000 wj:Zuj-vi (j=1,...,n).
i=1

000 GL(»,R) 000000000 n000000000000000
0¥000000000000000 ¢0000 [v,] 00000000 A
000 w]00OO0DOO0OD00 ADODO

A=tUAU

ooooo

3000000 the general linear group.

OO000 AlDO00O00 I (20170530) 4

0000000 z0yeV O

T =[v1,...,00]T = [Wi,...,WR]E8, Y=[v1,...,0.]7 = [w1,...,wx]Y
Oo0oooOooono
&=Uz, y=Ugy 000000 gz, vy) ="2Ay ="&"UAUY.

000 «z,y0000000D0OCOO0OOO O

" 0000000000
00 1.6. 0000 VOODOOOOO ¢O
e 0000ODOODOYO00000D0000 ze€ V\{0}OOODO
g(z,z) >00>00 000000000
e 0000O0ONOOND—¢ODO0000000O0O0DO0D0O0
e D0DOOOOOMDg(x,y)=00000 yeV OOOOOODODOO
O00z=0000000000000

0O 17.000000000DOO0O0DOOODOOODOOOO0OOO0OOOOO
oooo &

00 1.8. 000000000000000000000000¢(z,y)=0
00000 y00000000000000 g(z,2)=00000 ¢000
00000000 £#000 g(z,2)>0(<0)0000000 =000
0000000000

m 002000000

00 1.9. 0000 viOoOoOoDOOoooO ¢gO000O0O0ODOOOOOOOO
oob0oobOooobOooo0obo0ob0bgeOOOO0OO0DOOO00ODbOOO00ODOOO
gooooOooooooooooooUoOooo vooooooooo

Yoooo positive definited O 0 0 O 0 positive semi-definited 0 0 0 O negative definite0 0000
indefinited 0 O O 0 non-degenerate.
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oooog [vi,...,v,] 0000 ¢00000O0 ADDOODOODODOOOOOOOOO
ooo A (y=1,...,n0 000000000000 POOOODOOOOOO

Moo 0
‘PAP=A, A:=|: . |, 'PP=I=0000.
0 ... X

000 [wi,...,w,] =[v1,...,v,]P 0000 [w;] 0000 ¢000000 ADOD
00 0y 000 [w,] 00000000000 &="(z1,...,2,)09 = "(y1,...,Yn)
oooo

q(z,y) = > Ay,
=1

ooo000000000ooooO0000000 1300 O

o000 viooooo woooooviooooooo ¢g:VxV—-RO
WOoOoOOOOO ¢qw:WxW RO WOOOOODOODOODOOO

00 1.10. 0000 VvOOOOOODDOOODOO ¢gOOOO

e VOOODDOD WD ¢w O WODOOOOUDDOOOOODDOOOO
wiooooooOOoOD ny, 000DOgeO OOOOOO

e VIDUDUU WDODY4wUO WOOOODDODOOODODODOOOOOO
wooobhooobO n_.0000g¢O0 O0OOOO

000000000 (ng,n_)0 ¢O0000% 0000

0 1.11. 0000 Vv O0OO0OO0O0OO0OO0O0oO0o0oo 200000000 (n,0)
0(O,n) 00000000 RO VODOOOOOO &

OO0 1.12. 0000 vOoOOOOOOOOODO ¢000000000 ns
(n.)00¢O0O0O0O000O0O0UODOOOODOUODOOODOOOOOO

ny+n_=n=dmV.

00000 190000000000 [w,]0000 ¢q0000000000 AOO
0000000 ADOOOOOOOO 0000000A,..., A 000 Aes1,.-+,An

50000 the signature.

OO000 AlDO00O00 I (20170530) 6

oooooooooooo{ws,...,w} 000000 VOOOOOOO ¢g00O0O0OO
00000 no 2t0000{w¢,.-..,w,} 000000000000 ¢D0ODOOOO
00000 ny 2n—t

(1.3) n_ t, nyz2n—t

000V 00000 Wy (W-)O ¢lw, (¢lw.)000000000000000

000 ny (o) 0D00D00000000000 xeW,nNW_ 0000 g(a,2) <0
00 g(z,) 20000 g(z,z) =00¢|w, 000DO00000000000 =0
00000 WynW-={0} 000000

ny +n- =dimWi +dimW_ £ dimV =n.
0oooo (1.3) 0
n_ 2t, n—n_2n-—t n—ny 2t ny2n—t

00000 no =t ny =n—tO O

ob 1.13. 00 1.120000000000000000000000O000O
00000000000 0o0ooO0o0O00oD AooOooooood
0000 A—-'"WAU (UODD0DD0000D0000D00000000000

OO0 1.14. O0O0ODOOOO VODOOOOOOOOOOO0O0O0O0 VOO
000090000000000000000000000000 Y0000

m J000000000DOOOO D000 R (n:=s+4+t22, 520,
t=20)0000000

s s+t
(1.4) (v,w),, :=— Evjwj + E VE W
Jj=1 k=s+1
U1 w1
v = ,Ww =
Un Wn,

%)0 00 an inner product
0000000000000 0oOoO00oO0o0oOO0o0OooOOoUooOOooOoooOooO
7O00000an inner product space, a metric space.
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000000000 R*O0000 (4,s)000000000000000
000000 R*0000RO00000 (4,s) 00000000000
00000000 000000 (1.4) 0

—I, O
1.5 v, w ="tpJ, ,w Jst = ?
(1.5) (v,w),, it it <O L)

00oooo
000000 (n,0)000000000000000000R 0000

00000000009 0(k—-1,1)00000000 RPOOOOOOO0OO0
0000000000
0000000 VOOOo (,)000000000000

m 00000

00 1.15. 0000 VOODOOO »,wODOOODO 'Y 000 (w,w) =0
000oooooooon

00 1.16. 00 n 00000 VOOOOODO {ey,...,e,} 0 VOOO
ooo Woooooo

|(ei,ej) | =di;  (1=i,j=n)
gooooOoooooo

00 117. 000000 voOOoooooo

oooooobooooooood O

00 1.18. 000000D0D000000000D0000000D0D0000
(t,s) 0000

-1 (i=1,...,9)
(1.6) (eie)=0 (i#j), (eie)= .
1 (i=s+1,...,5+1)

8)000000000000000a pseudo euclidean vector spacell
900000000000000an euclidean vector space; 0000000000000 0O0a Minkowski
vector space.
Ypoooo orthogonal
000000an orthonormal basis; pl. orthonormal bases.

OO000 AlDO00O00 I (20170530) 8

000000 [e;)] D00000ODOOO

00000 190000000000V 000 [w;] 00(,)0000000000
000000000000000000000 s00000000 ¢t00000

<0 (j=1,...,9)
Aj
>0 (j=s+1,...,n)

o0o0oooooooo vuUao

(ﬁ:dmgO/ ... 1/ MM)

ooooooo

o (1. O
(1.7) UAU<O B)

0000000 L, 0 mOO000000000D00000000000000000
000 1.500 [er,...,en] :=[w,...,w,)U 0000 (,)000000 (1.7) O
00000000000 [e;] 0000000000000 O

m 000000000
00 1.19. 0000 vOOODODO v 0O

e 000 WOOOODODw=00000 (v,0)>000000000
oooQ

e 00 UDUDUO(w,v)<00O00OO0DO0ODOODOODO
e U0 0OUUOUOv#A00U (wyvy=000000000000

0000000000000 ooooon ¥o

00 1.20. 0000OO0O0O0O00O0DOOO0ODOOOOOOODOOOOOOO

2)pooo spacelike, space-like; O 0 O O timelike, time-like; 0 O O lightlike, light-like, null.
3)0 0000 causal character.
go0o0oo0oo0o0oOo00o00OOoU0oDOO0O0O00O000O00ODOO0O0O00OO0DDODUODOUODOODO
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m 00000

00 1.21. 0000 VOOOOO WOOOOOOOOO0000 (,)0 W
0000 (,)|lwOWOOODO0OO0DO0O000000000000 (, )|w
0000 wOoOoooooo

0 1.22. R200000 %1,1)000000 R20O00000000000
000000000000 o

00 1.23. 0000 VOOOOO wWOOOO
Wh={veV|000 weW 0000 (v,w)=0}

0000 wtowoooooo%oooo

00 1.24. 00 (ny,n_) 00000 VOOOOOOODO W OOOO
(myym_)0DOD0OO0OWE0 OO0 (ny—my,n_—m_)000 VOOO
Ooo0ovV=wewltoooooooooO
0000000 WOOOOOOOOO00 1.1800000000 [ey,...,em] (m=
m+—|—m,)[IIZIDDIZIDD[IIZI

<£B,61>

D:Vo3sxr— O(x) = eR™

(z, em)
000000000000000W+r=Ker®d OOOOODODOOO WO vooo
gooooo

0000 0000000000 :="'(21,...,2,) ER® 0000 x:=x1e1 +
4 me, 0000 ¢(x)=2000000

dmW' =dimV —dimIm® = dimV — m = dim V — dim W.

000 WNW+={0}00000000 xcWnWt0o0000OxzeW* 00O
00000 yeW O0OO0O (x,y)=00000 cWOODODODODODOW OOOO
000 =00

0000 WO wWtoooooooooooooo

dim(W @ W) = dim W + dim W+ = n = dim V.

M)Op0o00othe orthogonal complement.

OO000 AlDO00O00 I (20170530) 10

oooooD WeW+r=voooo
00 WiOoOo0oOOoooOoOoOoOOzeWh\{0}0OOODOOOOO

UV:Voy— ¥(y) =(z,y) €R

00000oooo0 vooooooooo vyOooooooooooooO rankv =1
000 dimKerV =n—100000000 Wt CcKer® ODOOO

dim(W* NKer ¥) = dim W+ — 1.

O000(x,y) 20000 ye W 0OO0DODODODODOOOODO0OOOO WH0OOOD
0ooo

000 W o0oD0O0DO00000OW 000000 [er,...,en] 0 WHODOOO
000 [f1,. fooml 00000[€1,.-s€m, F1r--os Froml 0V ODODOOO000
000000000 1,-1000000000000000000000000 10
00000000 WO WHOo0o0o0o0ooooooooooooooo Voooo
00000000000000 O

0 1.25. n0000000000000000 VOOOOOOOOO (n—1,1)
00000000000000D00000 »00000w 00000000
000000000000000 (Ry)A000000»0000)0V O
0000 »-10000000000

0000000000 00000000 »vO0000O0wt 000000
0000000000000 &

m Ogoo
00 1.26. 0000 VOOOODO f:V—-VOOOODODOOODOOO

(f(v), f(w)) = (v,w)  (v,weV)
00000000000000 0000
00 1.27. 0000000000000

goooooooooooooooogoooobooooobbooOoooooooon
00000000 fODOO f(e)=f(yyODOOODOOODOOOD

(f(®) - fly),w)=0 DOO0O (f(®), w) = (f(y), w)

B)gpooO0O0Oda pseudo orthogonal transformation.




11 (20170530) 00000 A1 000001

0000 weV O00DO0O000000000
(@), f(2)) =(f(y), [(z))  (z€V)
0000000000000000
(w,z) = (y, 2) oooo0 (z—-y,2z)=0

0000 zeVOOODODOOOOOOOOOOOODOOOOO0OO0O00 «=yO O

00 1.28. J0000C0CO0O00O0OCOO0OO0O0ODOCOOOO0O0OOOOO000O0
ood

ooo0O0 12r00000000C0O0O0000000000O0 O

00 1.29. 0000 VOUOOOOOOOOOOOO O(V)oouooooo
Ry 000000000 O(n,t) OODODO

RYOOOOO0OO0OOO RMOOOCOOOOOOOOOOOOOOGCOOO
O(TL,t):{AGGL(TL,R)PAJt’n_tA:Jt)n_t}

ooooooooooooo J,-. 00 (15000000 000000
ooo

00000 Al0O0OoOoOo 1

(20170530) 12

I-1

I-2
I-3
I-4

U U I

mxn00 COO0000A:='CCO000 ADO 00000000000

000 A0DOOD 130000000 R* 0000000 qa 0000

(1) ¢400000000000000000

(2) ¢40000D0000000 CO0D00D00D000D000D00000
ooo

001400000000

0019000000000000

(1) n=2000 O(2,t) (t=0,1)0000000

(2) 0(2,00n0(2,1) 00000000

00 12400W 0000000000000D00000000000000

ooooo
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II. 00oooooon I

0000,00000000000 (n—¢,t)00000000000000
0000000000000000 {e}(=1,...,n) 000000000
0000000000000000000000

V9a::x161—|—~-+xnenHt(xl,...,xn)ER?

gbobooboooooooboobobobobobobooooobooban
oooooooooooooOoOoOOO0oO0o0oooOo RpPOOOOOOOOO
ooo

= 00000 000 (15 00000000 220000000 ¢
(0<t<n)0000

) b0 p00000O0
(2.1) QW“=< ¢ ) P

O I, oo0ooOoOoOoooo
0On.00000 J,+, 00000O00ORPOO0O0O
(22) <£c,y> = tmt]n—t,ty

0000000000000 R =Ry O0000O000O00O0O0O0OOGO
O0000000000000oO O(n,t) DO0DODOODO 1.2900

(2.3) O(n,t) = {A € GL(n,R) |"AJ; 1A = Jpnst}-
00 O(n,t) 0000000O00000000 A€O(n,t)0

(24)A_<A11 A12> AllitXtD; AlgitX(n—t)D
- Ao1 Az Agr:(n—t)xt0; Aga:(n—t)x(n—1t)0

goboogogoo

20170 040 180 (20170 40 25000)

oo 2.1.

() 00 AeO(n,t) 00000 1000 —10000
(2) 00 A€On,t)0 (24)0000000000|det Ayy| > 10| det Agg| =
1000000

0000 (23) 000000000000 (1) 000000000(2.4) 000 AD
(23) 00000000000000000tx¢00000

AN AL+ A Aoy = — 1,

00000000000 (det Aip)? =det(*A11A4;1) =21 00000000 1-1000

00 2.2. 0000 n0¢200000
SO(n,t) :=={A € O(n,t)| det A = 1},
0000000 »>20¢t>10000
S04 (n,t) :={A €SO(n,t)| det A1; = 1}

00oo0oUooo Apn0 AO (2400000000000 OOOOOO
gooogn

00 23. 00000000 »n0000000000 M(n,R)00O0D00O
O00RY 000000000(n,t)0 M(n,R)=R*” 000000000
0000000000000000000000000000000000
00000000t 0000 0000000000(n,t) 00000000
00

det: O(n,t) > Ar—detAeR

OD0000000detO(n,t)={-1,1}000000000000(n,t) 00
020000 SO(n,t) 00D0O00D0t=00000 SO(n) =S0(n,0) 00
D000 Y0000 SO(n) 000000 YP000000 n>20t2100

VOoopDO00000000D000000000000000
2)0000a Lie group; 000 O(n)dthe orthogonal group; 0000 O(n,t)dthe pseudo
orthogonal group; 00000 SO(n)O the special orthogonal group.
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00 SO(n,t) 000000 OODODODOODO
det’: SO(n,t) > A~ det A;; €R

00000000 A3 0 AD (24)00000000000000000
0000000 det’(SO(n,t)) = (o0, —1]U[l,00) 00000000000
000000000 SO(n,t) 0000000 000000 SO, (n,t) 00
000000 I-200804(n,t) 0000000000000

m JO00000OCO0O OORrO20 POQOOOO

lﬁ:: (q17p17"'aQTL7pn) e R"”

0000000000000000 P = (01,--,00), Q = (q1,-++,4n)
0D0000 POQOOOCOOO0OCOOO0OOOOOOOOODOOOOOOO
00000000000000 00000000 PGO POO QOOOD
000000000000000000000000000 PGO0O0O0
0000000000 RPO00OO0O0O0O0OC0OOO0000000 POOOO0O
000 R"0000000000000 PQO0OO000000R 0000
0000000000000000000000% 000000000 R
00000000000000000000

(2.5) a(P,Q) = /(PQ,PQ)

00000000 R"O000000000000000D000000000
00000000 RPO0DDO0O0D00O0O000 R*O000000DOO0
0o 90

00 24. 00000000 RROOCODOOOODOOODODOOOODOOO
R*—-ROOOOOO0ODOOODOOOOOO

3)00000000an affine space; 0000000000000 DODOOOOthe vector space associated
with the affine space.
49000000000 the Euclidean distance; 000000000 the Euclidean topology.

00000 AlOO0O0O0 II (20170530) 16

000000000000000000000000000000000000000
0000000000000000

0000000000000000000000 R"00000000000000
000000000000000000000000000000000000000

0000 7 : (z1,...,2,) = o; 000000000000000000000
{(z1,...,za) la <z; <b}=7r;"((a,b)) 0 R* 00D00000000000000
0000000000000000000000000000000000000000
0000000000000 00000000000000000000000000
0ooo O

goodOd R*PO0002400000000000000000000
o0oooooobDoO0o0oR"0OD nO00DOOODOD POODOOOO
TPR*"O000O0OOR*ODDOOOOOCOOOO TeR*0O RPOOOOO
D0000000000000000000Y 0000000000000
Ry 0020 P,QOOO0O lﬁER?DDDDDDDDDDD

00 25. 000000000000 f:Rr—RrO0000090000
00000 P,QeRr 0000

(FP)F(Q), F(P)F(Q)) = (PG, PG)

oboobooboboDbo

0 26. 00 AcO(n,t) 00000 peRy

fle)=Ax+p (:c:t(xl,...,xn)eR?)

000000 f:RP =Ry 000000000 O
o0 2.7. 000000000 RROODOOCOO 26000000000
00 28. 0027000000000000000DO0O0

o JOOOODOOOOOOODOOO

e glx)=f(x)—f(0)00DO0O0O0OO0 ¢g0O0ODODOOODOOODOO
0O f0)=0000000000000

S 000000000 0a pseudo Euclidean space.
S00000an isometry, an isometric transformation.
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o (f(x), f() = (z,y)0
e f00000DDOO

o f(x)= Az (A€ O(n,t))0
ooooOoooooooooooooobooboooooooboOooooboOoo
gogboboobobooobooobn

m J0000000000000 000000000000000000
00000 R 0000 7000000000 R O0OO0

xr = t(:co,xl,...,:z:n)

obooooobooobooobooobOooooboboobooboo o0oDoOOdn
ooooooooonD R*O

{(0,21,22,...,20) | 21,...,2, € R} C RYT!
000000000000000 zeRMH O

(26) T = xp€g+ I 0 t(l’c""ao)y $0€R7
’ 0€0 s
(O7x1;~~~,xn) GRH

ugbogboobogbooooboood

(x,y) = —xoyo + (L, )

000000000y =ywe +70 (26)000000000020000
0(,)0R"O00000R"00000000000000000
0000 veRM 00000000 1190000 3000000000
e 00D000000v=000000 (v,v) > 00
e 00D0D00O0O0D (w,v) <00
e 00D000O0DD0O0Ow£000 (v,v)=00

7O0000000000000000000000000000000 Ry 0000000000DO0

00000 AlOO0O0O0 II (20170530) 18

00 29. 0000000 »0000
o] = V/(v,v)

Uo0000bO0o0oooobo 1goobogooooobooooooboan
DDDDDDDD<'U,’U>=—1DDDDUDDDDDDDDDDS)DDDD

0od 2.10. 0O0OoOoOoOooOoO ’UER?JADDDDDDDDDDDDD
vt = {w e R"™ | (v,w) = 0}

gooogn

(1) »'0RM'O0,000000000000

(2) vOOOOOD 0 RV 0000000D0000D0000000
0000000000000

(3) vODOOOODO v 0000 (,)000000 (n—1,1)0000

(4) vOOOOOOv: 0000 R 0R0000000000w0
000000000 »- 0000000000000000 (, )0

v 0000000000000000 v0O o 0RM 0000
ooo

00000030000 124000004 000000DOO0OODOO0OOO II4MM
0 (26) 0000 v=wes+70w=wieo+wW 00000000w, wOOO0O0O
goooooooo

—vg + |17|2 =0, —wg + |u7|2 =0, —vowo + (¥, W) = 0.

goooob 0 wOOOOOODODOOOOOOOOOOODOOOOO ]

" 00000000000000000000 00030000000000
000000 R3OODOOO

8)000000000000000a space-like (time-like) unit vector.



19 (20170530) 00000 AlOO0O0OO0 II

00000 AlOO0O0O0 II (20170530) 20

00 2.11. v = (vg, v1,v2), w = "(wo, w1, wy) €RI 0O OO
t

= |

D000 wvxwOov0 wDOOODDODOODODOOODOY 0000

U1 wi| |V2 w2| (Vo Wo

’ )

V2 wW2| |Vp Wo| |V1 Wi

00 2.12. J00000000000OCOO0O0OOOOOOO0OOO0O o0
ooboooboooooooobo

00 2.13. 0000 v,weR} 0000

e vxwlUv,wOOOOODOODOO
e vwOUOODUOODvxw OOOOOOODOODOODODO

| {(v x w,v x w) | = (v,v) (w,w) — ((v,w))%

o det(v,w,v xw)>000000det 0 3000000000000
gbobooobooos3oooooboobooooooo

oob400000000000000C000300000000000
oobooobooooobooooog

00 2.14. 0000 w,v,weRI 0000

(2.7) uAvAw:=

00000000 « 000000000000v,wdD 00000000
gbooood

uo Vo wo Uuo Vo wo

U1 V1 w1

ur v1 wi
u2 v2 w2
uz w3 w3

)

t
u = "(uo, w1, uz,us),

us w3 w3 us w3 w3 u2 w2 w2

t

v = "(vo,v1,v2,v3),
t

w = "(wo, w1, w2, w3)

(2.8) VX Wi=uAvAW

oooo

9000000 the vector product.

00 215 R{0000000000 vw00wD000000000 v, weR}
oooo

o vX,wlu,v, w0OOOOOOOO
e v, wIDIOODIOODDvXx,wOOOOODOODOOODOOO

(V Xy W,V Xq w) = (v, v) (W, w) — ((v,w>)2.
o det(u,v,w,vx, w)>00000detd 400000000000

oobooooooo400000000000D0O

ooooooooooooD 1I-e00

s JO0000000O0DO0OO0O0OD0O ODbOOoOO0O10000000000
gooood R;’HDDDDDDDDDDDDDDDDDDDDDDDDDD
00 0000000000000 000000000000000000

00 2.16. 0 PeRPM 000D
e OO
Ap = {QeR™|PGOODO }U{P}
OPOODDOOOOOOOO™WOoOoOoo
e OO

0 (v ="PQ)},
0,10 > 0 (v = PO)},
0,00 <0 (v= ﬁ)}

[IA

Cp:={Q e R"™| (v,v)
Cf ={QeR"™| (v,v)
Cp ={QeR"™| (v,v)

A

A

00000 PODOOOOOOOOOOOO 290
e RIFIODDDOD f(®)=Az+pO0AcO(n+1,1)00000000
00000000 AeSO(n+1,1)000000000000000

0000000000000 O000the Lorentz-Minkowski space.
)OO0 O0000 the lightcone.
12)0 0000 the causal set; 000 the futureD 00 O the pastO



21 (20170530) 00000 Al 00000 I

00A€S0,(n+1,1)00000000000000000000
Oooooooooooooon ¥no
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Y)p0o0000000the special relativity.
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I1-4
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oooooobobbbobboDoD TeM, TyeyN OOOOO MON OO P,
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000000 f0002 (df)p 000veTpM 0000
dfp(v): C*°(N)2pr—v(pof)eR

0000 TypyN 000 dfp(v) DDDO0000000000OO

00 3.2. 000 MOO PODODODOOD veTpMOODDODO

v: (—e,e) = M, ~(0) =P, CCZZ—Z(O)ZU

oo0o00dooooooy00O0OO0ODODOOODOD f:M—->NODODOO

dow)= | 6w

0

oooooon

")20170 40 250 (20170 50 2000)
YO0o00000a differentiable manifold.
2)0 00 the differential

00 3.3 (000000000). 00 fO0000 MOO POOOOOO
000 (#1,...,2,») 0 NO f(P)0000NDOOOOOO (y1,...,y.) O
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ooooo TepM, TyeyN D0DD0OOODOOOOOOOOOOOO (df)p

oo0oooo fOoDoOoooDO
#) - ()
oz 0T
(Q&) (am)
oxq OLm
ogooad
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000 f(z,...,2,) 0000 (y,) DOO00000 (f;) 00000
000 NOODOOOOOOO R*O000f: M —»R'O0000000
0000000000000000

of of \ _
(3%"”’%) - (f,;l,...,fxm)

Df(P) =

oooo

034. 00 f:M->RO00000000000000COO POOO
O0m=dmMOOOOOO f,,..., fe,, 00000000COCOOOOO
oog (z,...,z,) 0 POOOODOOOOOOOOO

00 3.5. 00000000000 O0O0bOO0O0obOOo0obO0OO0nO 340000
oog (z,...,2,) 000000000000O00O0OO

m JO000O0O0O0O0OO OOOOOOOOOO0O0O0OOoOoOoOoooDOO R™
O00000o0O00000o0ooO0O000oooO00000 RpOOOOO
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D000 McR*OR"0O00000®000000MO0O00O00O
oooooooo «M-—-RTO000O0000O0OOOOOOOOOOO
oooooboo MOn-—-1000000MO R*OO0D0O0O0OO0DO0O0O0ODO
TeM OODO0O R*(=TpR") 000000000 DO0ODO0OOOOOO

00 3.6. 00000 McR*OODOODO o: M —-R*O0000
dip(v) = (veTpM)

gooon

000000 veTpM OO0OO0OMOOOO ~(t) 0O~(0)=P,4(0)=v 000
000000000000 "=4d/dt000000000woy(t)=~() 0000 R™
oooooooooooooo 3200

d . n
dup(v) = e toy(t) =4(0) =v € TpR
t=0

oooo O

000 “F=0"000000 R*O0O00O0OO0DOOOOODODOOOOO
ooboooooooooooooooboooo

00 3.7.R"000 UD00000O C>*000 F:R*DU—-RPODO
00
M :=F*0)={PcR"|F(P) =0}

0000000000 0OMODOO POODOODODOdF(P)0OOOO pOO
OOMOOR*O (n—p)-0000000000000O0OOOOOOOOO
ooooooo

ooboodd p=100000000

00 38. R"000 UODODOOOODO C>000 F:U—-RO M :=
“l({o}) oo PO
oF

axl()sféo

3000000 a submanifold; 0000 a hypersurface.
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00000000O000OR® 00000 P = (p1,...,ps) 000 V O
(z2,...,2,) 000 P/ = (pg,...,p,) 000 V000D C®-000 f: V' —
ROOOCOOO

MOV ={(f(x2,...,Tn),T2,...,2n) | (x2,...,2,) € V'}
00000000000 pOO0OO MO xlzf(xg,...,xn)DD[IDDD

gooo

oo380000 (xe,...,2,) 0 MOO POOOOOOOUOOOOODO
gooboobobobo

0 39.R" 000 UDOODODOO0O0 ¢~-000 F:U »ROOOO
M:=F}({0}) 0000000000000000M 000 PO

(dF)P:(Fm(P)"" :rn( ))7&0

oooooooOooMORTOOOOODOO

0 3.10. R*O0O0O0O0O
{($ayyz)€R3|a$+by+cz—|—d20}

0000000000 a, b, ¢, d0 (a,b,c)#(0,0,00000000000¢

0 3.11. 00 (v,y,2) 0200 F(zx,y,2) 00000 F~1({0}) OOR3 O
0000000000020004%9000000000000000000
O000D0000D000000 2000000 9 &

" 00000000 0O0O0O0OOCOO0O0ODO0CORM'OOOO0OOOO0
00000000000000 s=0(00000000)ds=1(0000
000000000000 0000000
000000000 R 0O00D0 MOO POOOOOODO TpM O
RMY(=TpRMY O n 00000000000 ORM OODODODODOOO

Do 0 000a quadric.
S)000000000000000000000MO00000000000 600000
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O(,)0TpMOO0O0D0OO0OO0O 7TpM 000000000 gp D00
O0POODO gp 00DO0DO g0 McCRM ODOODDODOOOO
oooooo 9o

00 3.12. 000 M cRMM OO0 PODOOODOOODOOOOOOOOgp
000000000000 D000D0O00Dge 0000D0000000000
PODOOODOOOO 0
D00000000000000000 RM 0000000 POOOO
gp 0 TpM 00DDOODOODOOODOOOOOPOODOOODOOO
000000000000 POODOOOOOOO®D0
00 3.13. 000000000000000 R 0000000 MO
e J00ODDDODDOMOODOODODODDOODDODODOODOD
e I00ODDODODOMOOODODODODOOODOODOODOD
e I00O0DODODOOOODOOOODODOOOD

ooood

m 000000
00 3.14. 00000 F:RM' 5 ROD POOOO

oF oF
5EE(P) EEE(P)
oF oF
o V| _ (- o \|om™
grad F(P) = Jt,n—i—l—t 1' = 1'
: @ In+17t :
OF oF
T%(P) @(P)

O FOOPOOOOOOOYO000000O0RMOO0O0O0 (zo,1,...,2,)
ooooog

600000 the induced metric; 0000000 the first fundamental form.

7)I]DDI]Danon—degenrate point; 00 OO a degenerate point.

S)DDDDspace—like;DDDDtime—like. ooooooooooo0ooooooooboooooooo
00oo0o0oo0ooD0OD0DO00000000D0O0D000 (n,1) 0000D0D00O00000OOODOO gp OO
oooooo (n—1,1)00000 TpM O0OO0O0O0OO0OOOOOOOOODO

90000000 the gradient vector.
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0000000000000 t=000000grad P 0O00 dF OO0
boobuobdobotooooobobboobobdobo oubuobOoboao
dFO00000000D0DOOCOCOO0 390000000 OoooooDOO

0 3.15. R 0000000 ¢~-000 F:U - ROO0O0O M :=
F-1({0)) 00000000 00000000M 000 PO grad F(P)#0
0D00O0OMO R 00000000

00 3.16. 00 F:R}T' 5 RO0315000000000000000
0M=F'{0}))0O POOOOOOO0OOOOOOOOO0O

TpM = (grad F(P)) ™.
0000000 veTpM O0O0O00O0OM OOODO

v:(—g,6) Dt y(t) e M CRITY (e >0)

0 ~4(0)=P,4%0)=v (=d/dt) 00000000000000 ¢t000 ot) :=
F(y(t)) 0000000 ¢t0000 () eM OO0 o(t)=00000

y(t) =" (zo(t),. .., za(t)) 0000 AE)="(io(t),...,&n(t))
gooo
0=¢0)= 5| FOO)=X FE60) |

00000 ve (grad F(P))" 000 TpM C (grad F(P)) 00000000000
000 TPM 0O n 00000 MOOOOOOO n00000000000000
2100 (1)'Y 00 grad F(P) 0000000 n0O00000DO0O0ODODOOOO O

gbobgbz21000000000000

00 3.17. 000000000000000 R 0000 F: R SR
003150000000000000 PeM=F"1({0})O

19pp 21000 RPT 00000000 0OO00(1)0000000000000000000000
ooooo




31 (20170530) Oo0O000 Al0oooo 11

e 00 MUODDUDUUDODOODDUODODODODO gradF(P) DO
gboooooaod

e 00 MUOUDDUDDUUDODOODDOUODODODODO gradF(P)DO
goooooogd

e 00D MUIDOODOUDODDDDODDOODOODODOODO gradd F(P)DOODO
good

o0oo0d0
00 3.18. 000000000 R 00000000 MOOO POOO
ORM =TpRIM 00000 »(P)D0O0TeM OOOO00|(w(P),v(P))]| =1
000000 MO POODOOODOOOOOOOOOOO P—y(P)0OOO
ooooooooo ™o

0031600000000

oo 3.19. 00oboboobOobooooooDoo R;’HDDDDDDDD MO
OO0 pOOOODODOOODOOOO

grad F(P)
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oobooooo

m 000000 0OODO000O0DOO0O0ODO000DO000000000
0000000000000 000000000RM 0000000 M
0000000000 »O00D0O000DOO 20
D000D0000D vO MOO R 000DO0O0O0OODOOOOO
0og
dvp: ToM — R (= T,y R} )

gboboooooog

00 3.20. D00 veTpM OO00O dv(v) eTpM OOO0O

)000000000the unit normal (vector); 000000000 Othe unit normal vector field.
2)Qp0o0000000000000000000000000000000000000000000
goooooOo0oooO0oO0oOOoOoO0OooOoOooooo
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000(v,v)==+10000d(ry,y)=0000000 POOOO
0=dx (v,v) =2(dv(X),v).

000 TpM =p(P) D0O0D000O0D0O0OO O

0o 3.21. 000000000 R?HDDDDDDD MOOOODOOO
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0000 7pMO0D000000D0OO0OOO0O0 919
00 3.22. 00321 00000000000000000000

O0o0oo0oobooOoo n-30o00on
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00V 000 {vy,...,v,} 0000000
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k=1

000000 W:=(w}) 000000 000000000000

3.1 W(wi,-..,vn]) = (V(v1),...,Woy,) = [v1,...,0,]W.

Bgooo00000000000oO0O0D dv 00000000000000000000000000
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15)00000the shape operator; 00000000 0O0O0Othe Weingarten operator; 0000000
the second fundamental form.
1)0pgpoo000000000000000D00o0000Nnnonooo
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n
OMDOPOOODOOOOOD OO0 ®O0O00 H:P— HP)O MOO
00000000000000000000000000000000000

00 3.25.300000000000000000detW ODDOODOOOO
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gbodboboooooooboobooooooobobooooooooooban
detW OOOOOOOOOOoOoOoOoOooooOoOOOOODOOODOOOOOo
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(3-2) qe(x) = (x, ) —C

W 000000 the trace of W
)0 000the principal curvatures; 00 0O 0 the mean curvature.
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00 R°020000000000000000 du,dv 00000
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00000{du,dv} 0 TpU 0D0O00DO0O0O00O0DO000DO0O0OOD0O0O
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dudv(z,y) == i(du(m)dv(y)+du(y)dv(:l:)),

dv*(z,y) = dv(y)dv(x)
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O {fu, fo,r} 000000000 fuu, fus, foo 000000000000000

fuw =T11fu + T fo + Av
(4.5) fuv =T1afu + T2 fo + By
fvv = F52fu + F§2fv +Cu.

00D0000D00000000 (44)0f., f,0 00000000000 (v,v) =1
00
A=L, B=M, C=N

0000000450000 f., foDOOODOO

<fu7fuu> <fu7fu’0> <fu7fvu> — E F P%l F%Q F%Q
<f117fuu> <f117fu'v> <fv7fv11> F G F%l F%2 F%Q
ooooogo

(Fus ) = 5 (s ) = 3 B
(fur fur) = 5 U o), = 3 Bo
<fmfvv> = <fu:fv>v - <fuv7fv> =F, - %Gu

<fv7fuu> = <fv7fu>u - <fvu7fu> = Fu - %E’u

Sorfur) = 5 o fo) = 3G
<fu7fvv> = <fﬂ7fv>u = %Gv

oooooocoooooon O

00000000000 Weingarten formula.
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0042000000T7T% (4,/=1,2000000000000000000
oooo ®o

m 00000 300000000000D0000D0O00O0O00000O0
000 WOOO 4100000000000 (u,v) DO0DOODOODOOOO

00 4.3. 3000000000000000000000000000O0O0
oooo

Kext := det W
0000000000000000000000 20
00000000000000000000 90

00 44. 300000000000000DO0O0OOOOOOODOOO

1
.
EG — F?
(E(F%ZU + T3l ) + T30 — Digy — Tl — [35T5,)

(46) Kext -

+ F(D3gu + T3,T3, + T5,T5) — Ty —T1TT, — F%QI%Q))

0000000o0U0U0o0OoUo (uwv)JODOOOOODOOOO (42) 000
ooboooboooobo 4200000000
000 Keee OOO00OD0OOO0ODOOOOOODOOODOOO

00000 420030002000000 «OuO00000 fuu, fuvs fovs Vu, Ve O
0000 420 fu, fo, v 0000 (fovu, fu) = (fuwe, fu) 000000000000
ooooo O

0 (46)0000000000000000O0O0OOODOODODOOO
oobooboooobooooog

$)00000000000the Christoffel symbol; 00 00O the coefficient of the connection. 0
00 T, =0/, 000000

99000 00the extrinsic curvature; 00000000000 0O0Othe Gauss-Kronecker curvature.
000000000000 000000000000D [00000]00 80000000000 OODODO
ooooooooooOoOoOOoOOOO0O00ooooooooooooooo

10000000 Theorema Egregium

00000 AlIO0000 IV (20170530) 42

00 4.5.20000000000000 ds? = Edu?+2F dudv+Gdv? 0
OO0 '™Wo4.6) 0000000000000000000000000 20

O04400000000000000000 Ky 0O0D0ODDOOOOO
gbdobobobobooboooooooboobobobobooooooaaon
0000 K=K 0OOOODDOOOOO E,F,GOOOO

E(E,G, —2F,G, + G,?)
“n K= 4(EG — F?)?
F(E,G, — E,G, —2E,F, — 2F,G, + 4F,F,)
+ HWEG - F?)?
G(EuGy — 2B Fy + B2 Eyy — 2Fu 4 Guu
4(EG — F2)2 -~ 2(EG-F?)

+

0000o0o[poooojoooo

s 00000000000 0bO0ob00o0o00bO0000 ooooobooo
00000000000000000000000D0D0D R3OO0OO0O0
bdbdobobobooouoooooobooboboboboooooao
gbooobooobobooboooooboboobobooboobobooooonoa
000R300D00000000000000D0DDOOOO0O0000

(4.8) ds® = Edu® + 2F dudv + G dv’
E= <fu7fu>7 F:<fu7fv>a G:<f'u7fv>

000000000000000000000000000000 R3O0
0000000000000000000000000000450000
000000000000000 KOOD44000000000000
00000000000000

0000000000 f:U3 (u,o)— f(u,w) eR3000000000

Oopoo000000000000000000000000000000000 a Riemannian metric
g000O000000000000D00000D00000DO00O00O00O00O00O00O00DO0O0O0O
0000000000000000000 a Riemannian manifold 0000

2)0 00000 the Gaussian curvature.
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obooobooooooooo

Ju X fo
gbooboobobooobobob xboooooobooooboooooao

goboooob 211i00b000oooboooobocooboooon

fu X fo
| (fu X fos fu X fo) [V/2

oobooooooobooooog

V=

e:=(y,v)=-1

gbobooooobobooooobob vy00o0ob0ooooooboooboan
W:=—-dv 000000000000 PO WpOOODOOOOOOODODO
gboobooooo

II(v,v) :=¢ (v, W(w)) = — (v, W(w))

0000000000000 D000000000000000000onono
ooo
II = Ldu? + 2M dudv + N dv?

oobooooooo

L= 1(fu, fu) = — {fu, W(fu))
M = II(fu, o) = — (fu, W(fs))
N =1 (fo, fo) = = (fo, W(fs))

<fu7’/u> - - <fuuvy>7
<fual/v> = - <fuv71/> = II(fu,fu)a
<f'U7Vv> = - <fvv7y>

gboboobooooooobooboboboboboono

o0 4.6. DOOOOO
fuu = Filfu +F%1f'u + Lv
fu'u = r%2fu +F%2fv + Mv
Joo = Fé2fu +F§2fv + Nv

Dy = _Wllfu - W12fv
Vy = _W21fu - W22fv

DDDDDDDDDDF;kDDDDDDD ds? 0000000000000
oooooo420000000 W;D

—1
wi oW\ __ (B F L M
w2 W2 F G M N)
0oooo0oo
goooooood
. . 0 0
1=<$>J(n ﬁ), J:—(?)Jcm W) J=|0 1 0
v i 0 0 1

000000 (43)0000000D0O00DDO0OD f, fbO0DDOOO 4100
0000vDO0O0O (vyy=10000000000000000000000000
410000000 O

ob460000000004400000000000000000

00 4.7. 30000000000000000000000000000
f:US uv)~ flu,w) eR30D0D0D00000000000000000
000000000000

K= —detW
00000000 WODOOOO00DO00O00o000o0oooooo

m 0000000000 0O00O000O0O0OO0ODO0O0O0 0000 f(u,v)
ORI 00000D0DODOOOODOO0OO0000000O0OO

ds® = E du® + 2F dudv + G dv?

gboooboobooboboboooobooboobobbobobooooooDo
EG-F?#00000000000000000 42000000000
goood F%DDDDDDDDDDD KO 46)000oooooong
oon
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go0b0o0ooboooob »0oobooon
e:=(v)=1

O00000000000000000000 W:=—-d/0000000
00

II(,() := (x, W(%)) = Ldu® + 2M dudv + N dv*
0000000000000

00 4.8. 0O00oOooO0O
fuu :F%lfu""l—‘%lfv"'LV

fu'u = F%2fu +F%2fv + Mv
Joo = F%zfu +F§2fv + Nv

Dy = _Wllfu - W12fv
vy = =Wy fu = W3 fo

DDDDDDDDDDF%DDDDDDD ds? 0000000000000
000000 420000000 W;[I

-1
Wi Wi\ s _(FF L M
w2 W3 F & M N)
0oooooo

00000bb0 46000000000 (vyvy=1000000 O

ooood

0d 4.9. 300000000000 00000O00C000O00O0OCOO0O00O0
ooooooooooooooOoooK O

K =detW

00000000 WOOOOO0O00O0OO00000000000000
OO0 47,490000000

OOO000 AlO0O0O0 IV (20170530) 46

0 4.10. 00000000
f:M— R}

oooooDooOO0OO00 »O000000000000 W:=—dvOOOODOO
Oo0ooooooooooooo KO

K = (v,v)det W

00000000 WO WDOOO0OOO0O0oOoO0oo0oooooo
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IvV-1
V-2

IV-3

IV-4

0 0 IV

joboooOoO0oOoooooobo r000000CCOOODOOOOOO0

0000000000000 0D00D RPO0DODOODOOD (u,v) OO
oooooooooOooooooobooooooo

flu,v) = (sechv cos u, sech v sinu, v — tanh v).
200000 MDOOOOOODD ds? 000000 (U;u,v) D000
ds® = %7 (du® + dv?) (0 =o(u,v) € C=(U))

0000000000 (wy) 00000000000000 000 Y000
0D00000000000000000 5000000 KOOOOO

1 1 1

I = ou, T = o, [y = —ou,
2 2 2

' = —ow, Il = ou, I3 = 0w

K= _6720(0'1“1 + U’U’U)

gooooooooooooo
joooooooooooooooooooooog

Qc={z €R}| (z,x) — c =0}

oooooocooooooo

13)000000an isothermal coordinate system; 00 0000 a conformal coordinate system.
000 200000000000000000000000000[0DO0ODO]0O 15000

00000 AlO0O0OOO IV

(20170530) 48

Lo

Lo

Q1

1 Zo
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v.oood I

m 00000000 OIvOoOooOo3oooooooooooooooo
oooOooooono Kooooo

K =Kt e={(v,v)

D00D00000 K 0000000000000000000000Ow
0000000000000

00000 KOODOOOO (46)000000000000000000
00D00000000000000000000000000 440000
000000

D0 UCR®030000000000000000 f:U—R¥000
0000000 »0000000 POOOD R =TypR3 O

(5.1) R? = Typy f(U) & Ry(P)
000000000 00000000 R3O0O0D0O0O0O0 »0
+ [o]Y ([U]T € Ty f(U), CIREE Ry (P))

00000000000 00000 »000 f(P)000D00000
N Dooooooooooo Yo

000000 Tymf(U) O fu(P), /,(P)000000DO0DODOODO
000000000004200000000000

[fuu]T :Filfu+rflfv7 [fuu]N =Lv
[fuv]T = P%qu + P%va» [fuv]N = Mv
[fuv]T = F%qu + F%va» [fvv]N = Nv

"20170 50 90 (2016 0 50 30000)
DO000the tangent component; O 0 00 the normal component.

00000000000 4400

(52) <fvvu_fuvvafu>:0
gdddddooooooooao

_ 0, 9 9
fvvu - %fvv - au [fvv} + au
r 9 T-T r 9 1N
_% [fvﬂ] ] + _8 ]
[0 1T o
_% [f’U’U] ] + _8
o, 0., 1 0
%fuv— %[fuv] %
B r 9 T-T r 9 1N
- _% [fuv] | + _(9

0
0

fuvv =

p— [ a T-T [
- _% [fuv] | + _7

dddddoooooooo
Vu:_Wllfu_lefva Vv:_Wzlfu_WQva
oo
r_ [0, o]
[fm;u] = |:(9’U, [fvv]:| _Nwllfu_NWff'Ua
r_ [0, o]
[fumz] —|:av[fu'u}:| _MW21fu_MW22fv
00000000ooooooo (5.2) 0

0= {Fovu = Faros fu) = (Fovad " = a1

_ < Li [fw}T]T - {;} [fuﬂ " fu>
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i) T—T o T—T

= <_8’LL [fvv] | - -% [fuv] | 7.fu>
— N(EW} + FW}) + M(EW; + FW3)

AT R AT R ST
- _8’1,[, VU ] _81} uv ] ) u

- 1T - 1T
:<QAMF —eiMMT,h>—wG—WNﬁW
/1o 17 [0 ]t
- < _% [fvv] | - _% [fuv] | 7fu> - (EG* F2)Kext

00000000E, F,GOO0000000L, M, NOODOOODOOOOO
DOW=(W))0DOOOOO0000000000000000

L M\ (E F\ (W W}
M N F G)\w2 w2

gbobooboobooooobooboboboboboboooooobooban
00D00000000(46)00000000000000ds200000
gbooood

(5.9 .KEC£F9<BZMMTT[§ﬂhJﬂaﬁ>

gboogoooooon

s 0000 00000000000000000000000 f:U—R3
00000

00 5.1. 0000000000000 00D POOODOOOOODO
Xp € Ty f(U)0D0D0ODO

X:U3P = Xp € Typ) f(U)

00000000000 e f(U)00 {fu.(P),f,(P)} 0000
Xp = X1(P)fu(P) + X2(P) f,(P)

D0000POOOOOOOD X,(P) (j=1,2) 000000 X;,X.0 U
00000000000000000 ¢>*-00000000000 X 00O
000000000 20

oo f., f,0000000000000000D0000002000 fyu,
fuv, foo 0000000000 DOOCDOODO

00 5.2. 000000000000 f:U—-R*0000000 X0OO
oo

V. [9X]°

ou” T | Ou
O000X 0O «0000000000®000000000000000
OY=Yifu+Yaf, 0OOO

Vy X = leX + YQZX
ou ov

ooooXxX O0yvyoooooooooooobooooooooo

\Y% \Y
—X =V X —X=V X
u 9/0u<r v d/0v

gboobooboboboo

0o000000d f,, f,0 000000000000 f, f, 000
ooooQ

Vosoufu = Tifu+ T3 fo Vojoufo = Tlofu+Tiafo
Vosoufe =Toifu+T3fs  Vojoufo = Tsafu+T%f

2)0o00000a vector field; 0000 O00Oa tangent vector field; 0000000000 0OOa
smooth tangent vector field.

3)0 0000 the covariant derivative; 00 V O “nabla” 0000000 “atled” DDOODODO
00 “The nabla is so-called because it looks like a harp; the Greek word for the Hebrew or
Egyptian form of a harp is ‘nabla’™ 0000
http://www.chronicle.com/blognetwork/castingoutnines/2012/02/20/the-origin-of-the-
nabla-symbol/
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0000000 T (i,j=1,2)0004200000000000000
go0oobooooooobooooOooon
) )
X=X1fu+Xofo=X1—+ Xo—
(5.4) Ou ~ " 0v’
P
v

8
Y = Ylfu+Y2fv - a +Yv2

gooo

VyX =Y1Vy/0uX +Y2Vy,5,X

oX X
=Y [( o Ll X1+F}2X2> fu+<(9 2412 X1+F§2Xz> fv}

0X 0X
+Ys K En LT X +F22X2) fu+ ( 50 2 4T3 X, +F22X2> fv:|

00000000000000000000000000000000000
0000000000 M, =0} (j=1,2) 000000

(5.5) VY - VyX
oy, . 0x, o 0X,
(X15' Y18 +X28 )fu
8Y2 8X2 8Y2 aXQ
(X18—Y1 ey X28 )fv
=[X,Y]

0000000 [X,Y]OOOooOOoooooooooooooooooooo
O0000000D00000D0000000000000000 Y0000
ogbobobooobooboooboobooboobobobon
000000000000000D000000 ds?000 E,F,GO000
000000000000 (U,ds?) 0000000000000000000
gbobooboooooooboobobobobobobooooooboobann
000000000000000000000000000000 Y000
ubgbouoboouoooobobaobabaoo

Ypooo bracket; 0000 OO the Lie bracket.
5)0 00 intrinsicO O O O extrinsic

OO000 AlOOO0OO0 V (20170530) 54

0 53. 00000000
fi:R? 3 (u,v) = (u,v,0) €R®, fo: R? 3 (u,v) — (cosu,sinu,v) € R?

000000000 ds?=du?+d?000000f 000000 00 f,0
00000 +1/20000000000000000000000 44000
O0000000000000000000000000000000 $

00000000000 00O004400000000 (5.3)00

1

(5:6)  K=gpg—p

VosouVaoufo — VosaoVosoufo, fu)

oboobooboboo

00 54. 00 f:U—-R*0000000 X,Y DO (540000000
oooo

(VxVyY = VyVxY = VixyY, X) = (X, X) (Y,Y) — (X, Y)))K

000000000 [X,Y]0 (5500000000

oo0oooooooo v-100 O

m J000000000O000O00OOO0 O (6)00000O0DOOODOO
000000000000000000000000O000000 n230
oooooo UvcRrooooooOOOOOOoOoOooo

fUS @ . u™) — ful,. .. u™) € R
0000910000000 PeUyOOODO

6.7 {AP), s fa(P)} = {fur (P), s fun (P)} (fﬂ_;{a)

Oo0o0oooOoooooU0ooooo ywP)ODODOO0OOUOODOOOOOO V220

900000000000000000000000000000000000000000000000
0000D00000D00000000 o' 0 a; 000000
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00000000 (,)0000 f(U)D0000000 ds?2 00000
f000000000000000000O0000000 POOOO (5.7)
0 Tpf(U) D000D000D0000D0000 ds®000000

(5.8) I = (Gij)ij=1,..n, gij = (fi, f3)

0000000 7 0000000000000000det7 >000000
000000007 00000000000000

(5.9) I"'=(¢%) oooo > g gk =0}, =
j=1

0oooooooo

000000000 v0O (u),...,w”) 0000 8" = {z € R*"! ||z| =1}
00000000000 000W :=—dv0000000000000000
OO0 PeUDDOOO We O Tpf(U)0000D00000OOO (5.7) 00
0000000 W= (W) oooo

a n
(5.10) o= W) =~ kZ_lefk.
goooooo
(5.11) Wiy ) = —(f1ye e fa)W.

obooboooobooooooon
II(v,w) := (v, W(w))

00000000000000000 000 (5.7)000000000 I =
(hy;) 0O0DOO

hij = I(fi, ;) = — (fi,v;) = {fiz: V)

000000 000000000000

OO000 AlOOO0OO0 V (20170530) 56

00 5.5.000000000000000000000000000 (5.7)
00000000000oo I, I, wWooooow:=1-'I 000000

ooO0oo0 41000000 V-300 O

oobooooboobobo 4200000000000

o0 5.6. 00DOO0OOOOOOO%y=1,...,n0O0000
n n
fis = Thfi+ hijv, vi=—> WFf
=1 k=1

ubodobodabdaod Ffj[l I 0000000000000000000

n

1 Ogi | 091 0Ogij
12 k= A s J W)
(5:12) Y2 Zg <8u3 T T o

=1

0 (5.12) 000 ds?000000000000000

0000000 f; 00000000000000000000f,; 0000000 Tf
0 (5.12) 000000000000000000000000000000 f 00
oooo

n
l
(fiss f) =Y gl
=1
0000000000 g 0« 0000000 gey 00000

(fizs fu) = {fos fr)y = (fis fig) = giwg — (fis fady + (Fins fi)
= Gik,j — Gijk + (fiks £3) = Gin.g — Gigk + (fos £3)5 — (frs fig)
= Gik.j — Gijk + Gkji — (fig> fr) -

ooooo

n

! 1
> gl = 5 (Ging + grii = giz) = Tiji
=1

DDDDDDDDDgSkDDDD k=100 n00000000000 O

0000000000 000000000000000 XO0000
aXr

jX ==
Va/ou {81;3
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oooooo vooooooooooooooboooopoooooooo
O0o00oooo20000000 X, YODOO

(5.13) Rxy :=(VxVyY = VyVxY — VixyY, X)

0000000000O0ooooo ™o

00 5.7. 0000000 (M,ds?)00 POOODODOO0200000
0000 {X,Y}0O {X,Y} O

Xp = Xp, Yo =Yp
DDDDDDDDRX’yD RXQDD POOOOOOOO

00000000 (vY)...,w") 000000000 X,Y 0

3

B0

)
— k —
(5.14) }(__Eil)( S 1}, o

k

ooooooooo nyyDDDDDDDDDDDDgM,F% ooooooooogd
X, YooooooooooX,YOooooooooooooooooooooooo
v-400 O

0000000X,Y eTpM 0000 Ryxy 0000000

00 5.8. 0000000 (M,ds?) 00 POOTpM 020000000
O0 Op 00000000000 Tp 000 {vy,v2} 0000

R’Uhvz

(v1,v1) (v2,v2) — (v1,v2)°

(5.15)

000 {v,v2} 0000000000

0000000000 000000000000000000 540 0 X,Y OOO
ooooooodooobooooooooobod O

7000000000 R(X,Y,Z,T) := (VxVyZ—-VyVxZ—-Vxy2Z Ty0000O4000
000000000000000000000000 (5.13) 00000000

OO000 AlOOO0OO0 V (20170530) 58

00 5.9. 0000000 (M,ds?>) 00 POOOOOOO 7pM O 200
oooooo I, 0000

R 1 2
K(Ilp) := CAR 5
<’017’01> <’02,’02> - <’017’02>

({vi,v.} 0 OpOOO)
D000, 00000000®0000
00000000000000000000000000000000 (@™

00 5.10. 00 n 0000 MOOOOO f£: MR 00000 ds?
o000 MOOOOODOOODOOOODOOoOoODOTpM OODO 2000
OO0 IIp0000ODODOODO

K(Ilp) = det <H(U1’U1) H(Ul’l’?))/det <<”1avl> <U17v2>>
I(vz,v1) (v, v2) (v2,v1) (v2,v2)
({v,02} 0 T 00D

gooopoooo 7o fooooogooooo

» J00000000000000000000000000 0000
00000000000 RPT' 000000 f: M —-RYP' 0000000
0000000000000000000590000000000000
00000000000000000000000 90

00 5.11. 000000 MODDDODOOOO f:M—RW 0000
0ds? 0000 MOOOOOOOOOOOOOOOO0O0O7pM OOOO
2000000 IIp00000O0DOO

K(Ilp) = — det (Il(vl’vl) H(UI’UQ))/det <<”1>”1> (’v1,vg>>
I(vy,v1) II(va,v2) (v3,01) (2, v3)
(fv1,02} 0 Tp 0O DO)

oooooooo oo foO0booo0oOooooo

8)0 0000 the sectional curvature
90000000 0DODOO0O0O0O0On (v,vy=-1)00000000000
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U 0 A%

V-1 00540000000000

V-2 [0OO0OO00OR"000 UOO0O00O0O0OOOO0DOOOO0 f:U—R*'0000
0000000000000D0D000000000 h:U—=RM' 00000
00000000000000000000000000000000000
0Ooooooooon

V-3 00550000000000

V-4 00000 X,Y O (5.14)000000000000000 (5.13) 0 Rx,y
000 X%, Y*(k=1,...,n) 000000000000 5.700
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V. ODooooono I

" J000000 0000000000 MOOOPOOOOOOOTpM
0000000 (L), 000000000000000000000000
00O (M,(,))00000000000 Y0

MOOOOODODDODOODODDOOOOO X,Yyoooo
M>P+— (Xp,Yp)p €R

00000000000000 Xp,Y» 0000000000
X, YO POOODOOOT,M O0ODO0O0OOD0O00O0DO0O0
000 (X,Y)0OODoooooo

00000000 (,)0000000000000000000

0OVOOOOODO0OO0OO000000000000?00000000
oooo

000000000000 0000000000OO (,)000000
0000000000000000000000 (x»1)000000000
oooooo o

000000000000 000000000000000000000
000000000000 0000000000000000000000
000000 3,400000000000 C1/D1O000O0

m 00000000 OOOOO0OO0OO0OO0 RTOO0OO0 POOODOOO
TpR* 0 R"O000000O0O0OOOOOOO (, )OOUOOUODOOOOOOO
00000000000R*" 0000000 (2,...,2") 00000000

"20170 50 160 (20170 50 23000)

00000000 a Riemannian manifold. 0000000 a Riemannian metric

2000000 the Riemannian connectiond 0000000000 the Levi-Civita connection
ooooooo

300o0O000000a pseudo-Riemannian manifold; 000000000 a Lorentzian manifold.

ooooooboooboboooo

o 9
o

gboobobobooooooooo

(o o N ) =)
N0 ) T TN i)

ogooo
(6.1) (,) = (dz")? 4 -+ (dz™)?

oo0oooooooooooooooooonon g; 000 2000000
0000ooog(G.12)oooooooon FZ—DDDD oooOooooon
0000000 KMIp) OOOOOOD 2000000 Tp O00D0OOOO
o0OoOobOoOoooono

gbobooboooooababa

00 6.1. 0000000 (M,(, )00 PO0OOO0OO0OOOOOO (6.1)
0000000000000 (¢4...,2")0000000000000000
POOOODDOOOOOOOO 0000000000

gbobobooboboboboooooooooooo 20000000
o000 B1OOOO0OOOODOOO

s 00 00000000 R ODODOO

@)= |

00000000 k0000000000 IIO00000 (3.3)0000
000008 k)=Q,; 0000000 1/k>000000000 S™(k)
0R 00000000000000000000000000 S*(k)0
000000000000000000

(6.2) S™(k) = {:v € R
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0 0000000000000 vwke DODOOODODOOOODODODO
oo wao
W(v) = —Vkv (veTeS"(k)=z")

gboooooo
O0o0o0oOoOoOooooOooobobooOovoooooooooooobooo
gooOs.i1o00000

00 6.2. 0000 k000D (62)000000 S™k)0 R 0000
00000000000000000000 «€8™(k) 0000 TS (k)
02000000 0, 000000000

K(lg) =k

gooo

00 S*(k)00OOD0 kO nO00000000 S™:=8"(1)0 n0000
ooooo Yo

m 000 0OO0O0obObOoOobobooboboo R?'HDDDDD
1
(6.3) H"(—k):= {:1: = t(aso,xl...,:cn) eRIM [ (z,x) = —%,330 > O}

00000000 k0000000000 MO000000 (3.3)0000
O0000H"(-k) 0 Q_,,, 000 2°0000000000 %0000

1/k>000000000 H*(-k)O R 00000000000000

00000 I-1o0000000o0oU0ooUooUuoog HM(-kOoOoOoo
gbobooogobooooobooog

0 x00000000000D00v=+vkeDOOOOOODOODOOOO
ooo wao

W)= —Vkv  (veTeS"(k)=az")

Y00 k0O n 0O0000O0the n-sphere of (sectional) curvature k; n 00000 OO the unit
n-sphere.

opooo @ VYR oo («°,.. ., z™) 0 [2°| 2 1/vVk 00000002 >00000 2° <0
gooooooO0oooOoOoooOoO0booOOoO0ooOOo0n
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ooooOoO00oOO000000000000000 VOOOoDOoOooooo
ooboooobos1100o0

00 6.3. 0000 k0000 (63)000000 H*(—k)O R 000
00000000000000000000000000 @€ HX(—k) 00
00 TxH"(—k) 0 2000000 N, 000000000

K(Ig) = —k

oooo
00 H*(-k)0DO0D —k0 n000000D0O00 H®:=H"(-1)0
nO000000000 90
00000000000 00000000000000000 61000
ODo00o0oo0ood

00 6.4. 0000 k0000000000000 kO—-kO0000 OO
0000000 MOOOO0OO00O0 S*(k) OH (k0000000000
0000MOO000 POOOO POOO UOOO0ODO0OO0OOO0OO0O
00 f:U— S"k) (f: U — H*(—k) 000000

obe6l1000000e6400000000000D00O00O0DOOOOOCOO
oobooooooo B1OO

m 0000000 O000O000000O0 RfHDDDDDDDD M O
ooooooobooov»0OO0OO0oo0O0

R?H =TpM @ Ruvp
D000000000000000000000 » € R =TpRM O
+N ]t eTeM, [N €Rup
00000000000000000 (,)00000

(6.4) W =cw, )y, [ =v-[]N =v—cv,v)v

900 kO n0000D0D00the n dimensional hyperbolic space of (sectional) curvature k,
the hyperbolic n-space of curvature k; n 00 00 00O the hyperbolic n-space.
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0000000000 e=(ny)=+10000
000 McRM' 000000000000 C®-00

y:RDOI>t—~(t) e M c R
0ooboOoooboO I0bo0o0obooooobOog telogono
. dry
Y(t) = — (@) € T,yM
dt
gog 0O t00D00D0D0D0D0D0OD P0000000000000000
0000000000000 D00000000O0®oooo
0000000 4 0000000000000 U0o0o0ooUoooOon

oboboooooon

(6.5) %%0=waw=ﬂﬂmTeﬂmM

oo0b0yO0O0D0O0OO0O0O0OO0O0DOOOOOODO

00 6.5. 00090000 y0000

£ 60, 34(0) = 2(T130), 4(0)

gooooon

000000000 4(t) 0 TyyM ODOoO00D000

2 0,5(0) =250, 40) = 2 (O + HEON ,4(0)

= 2.05(1),4(0) =2 (O] 4(0)) = 2 (Vs 3(0),5(1)) .
O

0vVOOoOoOooDoOOoOovOoOMOODDOOOOODDODDOOOO0O0OoO0g
000000000000000000000000000000 MO0
0000 (u,...,u™) 0000 MO f(ut,...,w”) 00000000000

_ 1 n
V() = fu' (@), u"(t))
70000000¢the veolocity vector; 0000 D000 the acceleration vector.
8)DDDDDaregular curve.
9)0O0000000000000000000000000000000000000000000000
oooooes000000
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ooooo
. " dul Of
(6.6) V=2 o
j=1
(67) V.'_zn: dzuj_’_znzrjdiukdiul aif
’ vﬂ’—-j=1 dt2 =t klar de | oud

0000000 M, 00 (5.12)000000000000000 ~(t) 00
000000000000 V44 00000000000000000000
0000000000000000000000000000000000
00000000000000

00 6.6. 00000000000 4000000000 90V 000
0D00000000000000000O0V+ 000000000000
yO000000O0O0O00O0O0

gbe6000000000O00DO0OODODOOOOODOOOODOO
oobooooboooooooboooboooooooobooooooooooon
gbobobobobobooboooon

00 6.7. 0000000 MUOOOOO ~(t)D0OOO

(3(8),7(2))
0t0000000000

00000 6500000000 (d/dt) (%,%) = 0. O

ob e6.8. DO0OO0O0OO0DOO0OOODLDOyOOOODODODOOyOOO
ooboooobOoobooooooobooobooooobooo

oo0oo yO0OO0O00 I00 0000000000

(6.8) s@%:/ﬁwﬁL%ﬂfﬂdrl—eR

to

)0000a geodesicO 0 0 000 a pregeodesic.
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000004 #00000000000000000000
ds/dt = (%,4)"* > 0.

00000 s:/—s(])000000000000000000000 t=t(s)00
0 5(s) =~(t(s)) DOOD

Sy D dtdy 1 Ay g
T ds T dsdt — dsjdtdt  (3,4)"?

0000000000 40000000 4/ (s) 00000 1000000000 VO
ooooooo 2o

T T . T
oo [ A" _[dtd 1T _dt[d_ 4
YV T st T ldsdt’ | T ds | dt5,4)1 7

dt[ 5 _w,wr:dt g ()
4, <

ds [ (1,072 302 ds )2 (3,972
:@ V’Y’y _<V’Y’Y7’Y>’7
ds \ (4, (5,9 )

00000000 A00000000000000 Vsy=0(t)y00000 o(t) 0
00000000000

vﬂ,:@ << oy <U%7>v> —o

MR ()R

ooooyOOOO0OO0OO0O0O0O00000O0 O

000 I:=[e,b] 0000000000000 (M,(,)0000 ~(t)0
oo ¥ oo

b
(6.9) £() = / (), A1) dt

0000000000 MOO20P,Q000000000000000
0CrqO0000D

(6.10) d(P,Q):= inf L(v)

Y€ECP.Q

Opoo0O000000000000D000000000000 sO000000000000
00000000000 0000000000000000000000000000
13)DDDlength.
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0P, QUOOODOOO

00 6.9. 0000000000 MOO (6.10)000d:MxM—RO
ooooo
e d0 MODODODOODOODOOO

e 00 Jd0D00ODOO0 MODOOOMOOODOODODOOOOODODO
gooood

e 00 ~:fa,b) =M OODO L(y) O d(v(a),v(b)) DOODDOODOODO
yOOODOO0OoOooOoOoOoobooobooooo

oobooooooobooobooooobooooboog

00O 6.10. OOCOOOO0 MOOO POOOODveTIpMODODOOO
000 e0000 v : (—g,6) > M O

gboobobobobooboooooo

0000 POOOOOODOOO (v),...,w")00000000000000000

() = (u'(t),...,w"(#)) 00000000000 0000000(6.7) 00

Pul | S e

dt? kUdt dt
k,l=1

(6.11) =0 (j=1,...,n)

000000000000000 POOOO (u,...,w}) 00000000 %

oo (D) 4 (D
- oul ) oun ) o

0000000 4(0) =P, 4(0)=v O

. ) J )
(6.12) W (0) = ud, %(0) —

00000000000000 00 (ul,...,w™) 00000000 (6.11)0 n00
10000 «/(+) 0000 2000000000000000¢t=000000 (6.12)
0000000000000000000000000000 O

4(9/0u)p 00D0DD0DDDO00DD TeM 00000000OM O R 0DODDDDOOD
000000 f: M =R 000 8f/6w? 00D0ODOODO
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00 6.11. 00DOO0DOO (M,(, ) 000 ®»Oo0DO00D00000000
000 (-oo,+00) 000D0DOOODOOOOOOO
0000000000000000000D0D0D0D0D0000000
00 6.12 (0000000DO000). 0000000000 (M,(, )) 00
00oooooooon

e (M,(,)0D00611 0000000000

e MDOUOODD POOOODDOOODDOOO (—oo0,00) 00000DOO

e 0 (610)0000000000 d0000D0OOODODOO

e MDODOODODOOOD Y¥DOoOoOoODDOO

e MIOODJdOOOOOODODODODODODODDOOOOOOOO
oooo(M,(,)0000000MOO20 P,QODO0OOODOOOO0
04dP,Q 00000000000
0 6.13 (0000000 DOO0OOO0OODOD). 00D000ODO R*O0O0
0000000000000000000000000000000000

00000 000000000000000000 (6.11) O d?uf/dt =0
(j=1,...,n) 000 «(t)0 +00000000000000000

yit)=tv+p

goboboooooboooob0 «0boboo0ooboobooboooboob
Ot¢teROOOOODOODOOOOOOOODOOCOODOOOODODOO 200
gbooboooboooooooboban &

0 6.14 (000000). 000000000 S*=58"(1)cR* 000
0000 POOOOOOOOOODOODOOOOOOOD pO00O0O0000OD0
000 veTpS"0 pO000000O000000000 v000000
00 (v,0)=1000000p0 v00000000000000

~(t) = (cost)p + (sint)v

15)DDD~'30mplete.
aln v:[0,00) > M 000000 divergent path 00000 M O00D00O00O0O0OO0 KO
0000000 tx 00000 ~([ts,00) 0 M\ K 0DDODO00D0O000
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000000000000000
e (y(t),y(t))=100000 ~(¢) 0 S"00000000
t)=—(t),0000 4t 00 4(¢) 0000000000000

e 7(0) =p, §(0) = vO
e YOO yR)OOO $"00000000 {p,0} 000000000
00000000

(
(

gboobobobobooooooooobooboboboboooooooo
00000 'M0000000000D000000o0oooooooog
000000000 VI-IODOOOoOoO ROOOoOOoS™k)ooooo
0 130 <>

0 6.15 (00000000). 00000 H*=H"(-1)cR*' 0000
000 POOOOOOO pO00000000000weTpH"0 pO0O0
000000000000000000000 v00000000 (v,v) =10
00000p0 »0000D0000000O00

~(t) = (cosht)p + (sinh t)v

000000000000000
e (y(t),7(t))=—100000 ()0 H~ 00000000
e ¥(t)=~(t),0000 %(¢) 00 4+ 000000000000000
e 7(0)=p, ¥(0) =v0O
e OO »R)DD0D0D0O0 H*OODODODODOOO {pv} 000000
00000000000

00 6.16. OO0 H*(—k)OOOOOOO

17)DDDagrcat circle.
¥)0pg §* 000000000000 6.120000000000000
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m 000

00 6.17. 0000000000000 OO0DOOOOODOOOODOOOO
00oooooooo ¥9g

oooOooooo ROUOO S"(kOODOOO HM(-k)OODOOODOOO
oooo

00 6.18. 000000000000 R*0S™(k)DH™(—k) 000000
000

¥)gpgooa space formO0 00000000 a Riemannian space form.

OO000 AlO00O00 VI (20170530) 72

0 O VI

VI-1 00 $"(k)00 pO0D000000 veTpS™(k) 000000000000
0ooooo

VI-2 061500000000

VI-3 e 00 S"=8"(k)020 P,QO00000D0000000 p,q0000
0OP,QOO00

d(P,Q) = % arccos k (p, q)

gooooooooood
e 00OO H™(—k)DO 200000000000O0OOOODOO

e OODOODODODOO 356074720000 139.6861000000000
000 48.8585820 000 2294438 00000000 DOOOOOOODO
goooogoooo
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VII. 00doooon I

(20170 50 30000)

" 0000 0000000 (M,(,)) 0 (M,(,)Y)0000000
f+M - M 00000000Y000000PceMOv weTpM
0000

(df (v),df (w))" = (v, w)
0000000000 fO00000000D000000000

00 7.1. 0000000 (M,(,))0 (M',(,))00000000000
000 f:M—M O0000000000000000 PeMOOOOP
0MOOODOOO UOOO0O0DO flp:U— f(U)00000000000

oo0o0o pOODOO (df)PZTPM*)Tf(p)M’DDDDDDDDDDDDDDD
od

((df)p (@), (df)p(2))" = (2, )

000 (df)p DDDODDOOOOOODODO (df)e DODODOOOO TpMI:ITf(p>M'D
0000000000000000 (df)p 000000000000 OOOOODOOO
ooooOo0o0oooo0ooopOOOOODOOOOOOO O

00 7.2. 00000000000000000000 f:M—M 000
ooooo (M,(, )0 (M,(,))00000000000M 00000
0000 X,YOoooo

Vi) df (V) = df(VxY)

000000000 VO V00000 (M,(,)),M,(,))00000
0ooo

")20170 50 230
Yoooo0Oan isometry.

00000000 MO M 000000000000002000 PeMOOD
UD flpy 0000000000000000D POOOOODOO f(P)00D0OO
00000D0D000000D000000000 f000000000000 (gi5) (O
0000000 (5.8)0000000000000000000 %00 (5.12)00
0000000000000000000000000 O

0000000 (6.11) 0000000000000 0O0ODO0OO0O0OO0OO0O0OO
oooogoo

073.00 f:M—MDO000D000O0 (M(,)0 M,(,)Y)oo
000000000M 0000000 y0000 foyO M 00000
000

00 7.4. 0000000 (M,(,))00000000000000 f00
000000000000 (M,(,))000000000

oobDoOoooOoooooobog vII-1mM

o0 75. 0000000 (M,(,))000000000O0OO0OOOOOO
ooooo

007500000000000 (M,(,))000000000 390

s 00000 OO0OO0O0OO0OO0O00O0OObcOooOoOOoOoOOcOooobObooo
0000000000 nO00O0O0StsnO000O

-, 0
O, 1) = {A € Mu(R) [' ATy s A = Ty} %4¢<Ot1 )
n—t

0000000000000 00O00O00000o00nD M,(R)ODODODO
ooboo0nO0O000O0O0O0C0O0DO0O0O0O

)0O0O000000Od dimM =dimM' 00000000000000 M/ 00000 f(U)DOO
oooooooooo

3000000 ¢the isometry group.

490000000000000000000000000000000000000000000000
0000o0o0ooo0o0b0000o0o0bOo0000o0o0o0bO0000o0oo0oo0bO00000o0o0oo0o00o0o0o0nDn
0000oo0o00000o0000000000oo0oo0oo00o0ooo0ooooo??00000000000000
ooooo
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oo 7.e. e O0OODOODODO £x1O000O0OCOO
SO(n,t) := {A € O(n,t)| det A =1}

0 O(n,t) 00000000

e t>10000000000000 txt00000000000 10
000000000¢t=10000000000000000 100
oooo

Ay A
Os(nt) =3 A= """ ") c0omt)| det Ay =1
A21 A22

0 O(nt) 0000000000 1200000000 Ay, Ay, OO
000 t00(r-$)0000000000

000 O(n,t) 00 in(r—1)00000000000000000000

0 C~-00000000000000O(n,¢) 00000000
00 7.7.000 O(n,t) 000D000O0D000
e t=000000(n):=0(n,0)000000000000 SO(n) O
ooo
e t21000 O(n,t) 000000000000 000D0000 40
00000000000000000000000000 SO(n,t)N
O4(n,t) 0000
00000000000000000000
00 7.8. 0000 A0 O(n,t) 000000D0000000000 A=
(ay,...a,) 0000000000000 {ay,...,a,} 0 RPO0O0DO00
0000000000

gbobogoooog

00000 Aloo0ooo vII (20170530) 76

00 7.9. 00000 A€O(n,t) 000 ‘A0 O(n,t) 0000000

0000000 J'AJA=id (J = Ju—4s,id00000) 000 A~ =J'AJ 000
000000 id=A4AA"'=AJ'AJ000O0O00ODODOO JOOODOOOAJ!A=J
oooo O

ooboooooooboboooooo

0 7.10. 0000 A0 O(n,t) D00OOD0OODOUDDOODDODDUODOODAD
oobooooboobooooooobooobooooboo

00 7.11. 0000O00000000O00O0 R 000000000
x="(z0,21,...,2,) 000 AcO(n+1,1) 0000

apyp --- Qin
t(yo,...,yn) = Az, A=
Ano .- Qpp
ogoooo
+1 (z>0)
SgL Yo = SEN T SEN Ao sgnr =49 —1 (<0
0 (x=

0000000 20y 00000000000000000 A€eO4x(n+
1,1)000000ood

00000 AQ00O0O0OOO0OO0ODOOOOOO0000 a := t(aoo,am,...,ao") 0
(a,a)zleDDDDDDD
a = apo€o + a, T =x0€0 + T (60=t(1,07‘..,0))

000000000-1 = —ade+|@?00002 00000000000 —23+|Z> < 00
00000
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Yo = apoTo + @011 + - - + GonTn
= agoxo + (@, &) = aoowo — |@| |Z] = acoxo — /a3, — 1|Z|
> agozo — 1/ ady — 1]zo| 2 avozo — |aco| |zol,

yo < aooxo + |@l || = acowo + \/ady — 1|2
< aoowo + 1/ ady — lzo| £ agozo + |aoo] |zo

000000000o00ooU0o0o0oooUOooOooUooUn 4, a000000
oooooooooooo O

m 00000 0UOO0OO0OO0OO0OO0OO0OOOOO0OOOOUOOOOOOO(,)YOoO0
Oo0ooooo vooooo f:v—-vad

(f(v), f(w)) = (,w)  (v,weV)
0000000000000 00000000000000000000
00 7.12. 000000000 RP 00O

f(x) = Ax A € O(n,t)
O00o00o0oooRrRyOO0O0OCOO0O0O00O0OOOOOO0

m 0000000000000

00 7.13. 0000 AeO(n) 000000 beR*UODODOOOOOO
oodo R*O00
ffR"2xz+— Az +becR"

gboooooooo

00000 fO00000 ffYy)=A"(y—b) 00000000 fO00O0OOOO
f00000000D0D000O0O0 x€cR*"000000 f00000 (df)z O

(df)aX = AX (X € TxgR" =R")
000000000~(0)=«,%(0)=X 000000 R"000 00000

(@)X = 5| for)= 5| (A1) +b) = 43(0) = AX,

00000 Aloo0ooo vII (20170530) 78

000000
((df)a X, (df)aY) = (AX, AY) = (X, Y).

0000 fO000O0O0OOOO O

O0D00D00OR"O0O00000 a— Az+b(Ac€O(n)) 0000000
oobooooooobbooooooboooboOooog

00 7.14. 00000000 R*OO00O00O f:R*—=R™O
flx)=Ax+b A€ O(n),beR"

gooog

0000000 f:R*"—-R*"000000000b:= f£(0)0000g(x) = f(x)—b
00000y—~y-b00000000000 7.13000000000000000
0000000 7500009 0000000000 ¢g(0)=0000000000 ¢
00000000000

(dg)o:To]Rn:Rn — R"
gbooooooboooobooobooobo
(dg)oX = Ax AeO(n)

00000 ADOODOODOO h(z):=A'g(x) 00000000A' 0000
00000ARD R"O00D00O0O

(7.1) h(0)=0, (dh)o =id

00000000000AROODO0O0O00O0OO00O00O000 00000 »v000
00000 v O
Yo (t) = tv

0000000 6130000000000 AOOOODOOOUOODOOODOOOOODO
073007 =hoy 0000000000000 (7.1) 00 4(0) =0,4(0) =v 00
00000000 At 0 vy(¢) DOOD0O0ODOOD0ODOO0ODOOO0ODO

h(tv) = (t) = v (t) = tv (v eR™,t €R)
goopoooooot=10000

h(v) =4(1) =) =v  (veER")
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0000ROO0D000O0D0O0O0O0O0OOOOOOO
@ = h(z) = A g(x) = (A7")(f(=) - b)
000 f(®)=Az+b0000 O

m JO000 0O0O0O0O0O0O0O0OO0O0O0O0O0OO0OO0OOOO0OO0OO H™(-k)O
1
H"(—k)—{w—t{(xo,...,x")}eRTfH, <m,w>:—E, x0>0}

000000 R 000000000000
00 7.15. 00 AcO,(n+1,1) 00000

f(@) = Az
oopoooofo H"(—k)DDDDDDDDDDDDDD

apyp ... Qon
Oyn+1,1)=¢ A= ..  1€0n+1,1)]ap >0
Ano ... QApnp
good

00000 fO0 R OO0 R 00000000000 H*(—k)0ODOODOOO
f(H™(=k))=H"(-k) 00000000 f: H*(—k) = H(—k) 00000000
O00AeO(m+1,1)00 e H*(—k) 0000

1

(@), f(2) = (@,2) =~ .

000z = ‘(2%...,2"), f(z) = ‘(4°,...,y") 0000 @0 > 0, agp > 0 000
¥ >0000000000000 71100000000 f(x) € H(—k) 000000
0000000 g(z)=A"'2 00000000 f0000000000f0 HY(—k)
00000000000 0000000000

00000 @€ H*(—k) 0000

(df)aX = AX X € ToH"(—k)
00000000 7130000000000
((df)2X, (df)=Y) = (AX, AY) = (X,Y)

0000 fOo0OO0O0OO0OO0OOO0OOOOOO O

00000 Aloo0ooo vII (20170530) 80

00 7.16. 0000 H*(—k)OoOOOOO
H"(—k)>x — Ax € H"(—k) (A€ O4(n+1,1))

gooog

OoOoR*'OoOoOOOO

1 0
1 0

€0 = , er =1 .1, ,  €n =
0 0 1

goboooooooooooobooooobooooo R?JADDDD[IDDDDDD
ooooo

1 n
o = ﬁeo € H (—k)
0000000000000000 f: HY(—k) — H*(—k) 000 2o 000 y, :=
f(xo) DOD DO
ap = \/%yo = \/Ef(il)o)

00000000000000
0000 {e,...,e,} 00 o 0000 H*(—k) 00O0O0DO000O0D00000O
0000000000 f000000000000

aj = (df)zo(e;)  (G=1,-..,m)

0000 {a1,...,an} 0 Ty, H"(—k) 000000000000000 Ty, H"(—k)
0 y,=ao/VkOOOOODOOOOO{ao,...,a,} 0 R} 0000000000
0000000 ao = “(a,...,a0,) D00000ae/Vk € H"(—k) 00 ag > 000
000000000000 (n+1)00000

A:=(ao,a1,...,an)
0 O4(n+1,1)000000000000000 A~'000 j=0,1,...,n000

Oa; 0 e; 0000000O0O0COOOODOOOO g::AflfDI:IDDD[IEI

_ _ 1 1 1
9(1130) =A l'yo =A"! <ﬁao) = ﬁA 1a0 = ﬁeo = &o,

(dg)ay (e5) = A7 (df)zo (€5) = e;.
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000 z— A '2 0000000000000 7.15000 guooooogd
(7.2) g(xo) = xo, (dg)zx, = id

ooooooobo
000000 t=000 2o 000 ve Ty H (—k) 00000000 ~p(t) 00
ooo
Yo (t) = (cosh\/ﬂv\t) :Bo—l—i(sinh\/%\v\t)l
vk
07300 :=gov 000000(7.2)000t=000 o000 »O00000O
gooooooboooboobooboopoboooo

v]’

(7.3) 9y (1)) = 3(t) = 1w(t)

0000000000H"(—k)000000000000000000 61200000
000 e H'(—k) 00000xy 0 x 0000000000000000000 v
0t00000 #=v() 0000 % 00000

R X Tgo H" (k) 5 (tv) — Yo (t) € H"(—k)
000000000 (7.3) 00 ¢g00000000DOOOODOOOODOOOO
z=g(x)=A""f(z)

oooooooooood O

s 00 00000000D00000000000000000 VIE-30
00 7.17. 00 A€ O(n+1) 0000000 o — Az 000 S"(k) C R
00000000000000000000000000000

s JO0000000000 DOOobOOobobooooboool1oooobob
goooobooooooboooooooboobooobooooooooooo
uboboobooooooooobobobobobobon

0 7.8 (0000000). 00 S"=S"(1) cR**!' 000000N :=

(0,0,...,1)0000S:=(0,0,...,-1) 0000
— 1 1 n o 1 1 n
7TN($) = W(x geeoy L ), WS((E) = W(ﬁ gy L )

5000000« 000000 v0¢t000000000000000000000000000000
0 VII-200

00000 Aloo0ooo vII (20170530) 82

gooogo
mn: ST\ {N} = R, 7s: S™\ {S} = R"

000000000000000 R*00000 (uf,...,u") 0 8™\ {N},
$"\{S} 00000D0D0D0D000D00000000000 $*00000
00

(@ 4o () ] =

ds* = ————
TP

oooooo 90 o

0 719 (000000000). 0000 H*=H"(-1)cR*' 0000

1 1 n
7'('({13) = m(m yeeoy L )
gooooo

m: H" - D" ={X e R"||X| < 1}

000000000000000 R*O0000 (ub,...,w™) 0 H*OOO
O000o0ooooooooooo ssooooooo

4 1\2 ny2
2((du) +---—|—(du)) lu| =

ds? = ————
(1= ul?)

ooooooon O

Sopooooo (uj)DDDDDDDDDDDDDDDDDDDDD ds> 00000000000000
ooooo (ul,“.,u”)DDDDDEIDI:IDDDDI:IDDDDDDDDDDDDDDDDDDDDDDDD
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VII-1
VII-2

VII-3
VII-4

O 0 VII

00 750000000000
0000 H*(-k) 00O

L
Vk
0 zeH'(-k)00D0O0O0OD0D 2o 00000D0O0OODOOOOOOODO

oo rvivoooooooo
07180000000000 k000D DOODOOOOOOOOD
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20170 50 300
V000000000 a Lorentzian manifold.
2000000000 ¢the de Sitter space. 0000000000 the anti de Sitter space.
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Yo(t) = Vk <(cos \/E|v|t)% + (sin \/E|'v|t)z|> .
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